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ECONOMICS

( Honours Core )

Paper : ECO-HC-6016

I India! Economy-[ I

htll Marks : 80

?ime : 3 hours

The figures in the margin indiute full marks
for the questions

Ansu.er ,:ilher in English or in Assa,nese

1. Answer the following questions :

g;dtit g:t6Fr{ b-es Ril ,

(d) What is frscal policy?

<TqeTlfrr At ft'

(b) What is 'Import Substitution?

qqffiBffiqqq'ftr
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(2)

(c) Give the mealing of Toreign Direct

Investment''

'ffi* cqsfifrmrr'rq{fr{ I

(d) Ythat is 'Ivlinimum Support Price?

!-+wllft1tl'ftt

(e) What is working caPital?

+r{+3Yr*ftt

A Mention one cause of low industrial

growth in India'

sFfqfir kmftq-<m qfiFK'rgcF{T-{r I

@) Defrne occuPancy tenant'

qfr{rqrglftfi t

/h) Write one objective of lublic
procurement and distribution system'

of India.

Errg< 'urfi? u;[ qFF R-qq <rq{t-< '4bl

Gerilfi'qt t
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0 Write one difference between
small-scale and cottage industry.

Tu*{Tr TftfirrcrR cfi '|T{nfr{ r

0 What is NAVRATNAS?

NAVRATNAS ft ?

2. Answer the following questions : 2x5=10

gq\5ftfl grT{{rt-s<fr{:

lai Write the names of any two Social
Securities Acts of india.

qr\t{ fi c+rr+ ffi cErk fr{r'rq qRil {l{
f4lt r

(b) Mention two important features of
India's direct tax.

sn\5ir ssirFqfi Fr e+-sTf ?fiBfr..{r r

(c) Point out two differences between
Revenue Account and Capital Account-

{qqRFr{ cIT Tq{ft fof<r F 'irefsr fi1€{r I
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@) Wnte two main objectives of the New

Industrial Policy, 1991,

)bb) wr {94 &nfi-{ ftGr Tbr {'{ t'c?fl
frqlt

(e) Mention two objectives of the National
Competition Policy.

u8r aemDq1a-+frkfiuetnfrlt r

3. Answer any /our of the following questions :

Sx4=2O

sqs ftfl sfq< fr c+rtr|r lfiiR Gs{ ft{r :

(d) Outline the main functions of financial
system in India.

sRgl ftQ{ <ntr W Trm. s'Ks
qtrEfscflu en I

(b) Explain service sector as the ,engine of
economic growth, in India.

6q<Ffw sR\rl 'ft{n< Drfr-{'rifu, Rurc't ctKn
Ti(T I

(c) Explain shortly the role of foreign
investment in the economv of India.
snft \TsR&s ffi+ Rfirqrm Eff.FT EtF

24A/4s9

qrcflrfi s[ r

( Continued )



(51

{d,f What are the technical causes for low
productivity of Indian agriculture?

sI{Ar TR{ fir-bq'fift{K Prffi el<rq<
frR't

(e) Write about the objectives of monetary

Poli(ry.

{sl'|,5 ftfr-{ Scnrc{5 Rvs fr"{ t

A Write about the problems of public
sector units in India.

q<s?r 1|q{{l {s< vc{nfi rrrllq{q fiTa{

frqr

4. Answer the following questions : 10x4=40

esefr$ s:|l-F{b-esftfl '

(a) Discuss the role of fiscal policy in
economic development in India. 10

€nEs Ef{FE b-{fis rrq(Tltn fte< 9fr'rt
qtffiTE-{l ?F{.t I

or / +f&l

Explain the functions of monetary
instruments of monetary poliry in India'

€FrG( {slqs Afu qitrqicT< $I{KA< fircs
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(b) Discuss the problems of agricultural
marketing of India. Suggest some

measures to imProve it. 5+5=10

sT-{s< TR {€iFK :illrTlf{T{ qtFtTFtt ?F{I I {r-ln

fi+r.r< <r< 'Rm{qffiuqrr I

Or / akll

Discuss the role of industrialization on

Indian economy- State few negative

aspects of industrial growth. 5+5=10

sr€c scfrFs kcnft{{"K Yfr+t qz46-{1

<'-{r l&ffftrrr{ ffiN1 q'r|s{ cqr{ R{(T

fr{r

(c) Critically evaluate the performance of
public sector in Indian economy' 10

EFrqr qfifu {q{ lel rlffir
cTlusTtrlF-{ fdlTFlT{ |

or /iliW

Discuss the role of small-scale indusbry

in Indian economy' Suggest sorne

measures for the imProvement of
SSI units. 6+4=10

sno:{ qefr&s 1u B-enan $-fl qeep-al

fil I Ts g-eqnrR tTtrfi rl(1 C{$m{ "r<Tq-l
qTq{cqt<T I
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Discuss the favourable and
unfavourable effects of Foreign Direct
Investment (FD$ on Indian economy. 10

€Frst q{fr&s r{frfrs g\r-r$ frfrcTlrF{ le|glir
qFF TAstiR ftq6$ qKqlFr T-{l I

Or / 4R1l

Write about the export promotion and
import substitution policy of India.

sFrv{ rglft $ qr+ qrqnfr ffisrq ftFT
ftqzq fr{f r

***
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